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The use of calculators is NOT. allowed.

Name: _ )
Class: Primary 5 -~ | Marks:

 Paperi

-/ 45 |

BP-327




BP-328

- BLANK PAGE -



Paper 1 Bookist A

Questions 1 1o 19 carry 1 mark each. Questions 41 to 15 cany 2 marks each,

For each question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet.
(20 marks)

1 There were 312 089 visiters to a tourist attraction last year.
Express this number to the nearest thousand.

{1} 300000
() 310 D00
{3+ 312000
(4) 313000

2 Whatisthe value of 30 ~ (8 + 12) = 3 x 2.

(1) 8
2y 2
3 18
(8 27

1
3  Which fraction is greater than E?

m 3
{2) '2'
@ 3
@ =
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5
4 Which of the following is equal to 33?

(n -
(2) =
(3) 5

4 -

5 What does the digit 9 in 7.898 stand for?

{1) 9ones

(2) Stenths

(3) 9 hundredths
{4} 9 thousandths

6 Which of the following is likely to be the total mass of 6 one-dollar coins?

(1) 4000g
(2) 4009
(3) 40g
(4) 49

7 What is the missing number inthe{ 1?7

[(]:49 = 30:42

1y 19
2 23
(3) 35
@4 37
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B In the figure below, which two Jines are paralle! to each other?

A

(1) DAandCB
(2) DA and DC
(3) ABandCB
(4) ABandDC

9 In the figure below, EF and GH are straight lines.
¥Which one of the following is true? '

H

(1) <Za+Zc=180°
(2) 4Zb+2Lec=180°
{3) Lazzse
{4y <Lb=4Ld
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10 Whatis the area of triangle ABG?

I

p-%
1 :J'._..__g._-------.

- B
c 8 om 3cm
(1} 22em?
2) 26 cm?
(3) 44cm?
4y 52cm?

44  There are apples, oranges and pears in @ basket. The ratio of the number of
apples to the number of oranges is 5 : 2. The ratio of the number of oranges
to the number of paars is 1 : 4. What is the ratio of the number of apples to the
total number of fruits in the basket?

(1)
(2)
3
4

ATS 2022 P5 Moih End-of-Yoer Paper 1
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12  The average mass of Ali, Boon and Chai is 48 kg. Ali is T kg heavier than
Beon. Aliis also 5 kg heavier than Chai: What is The mass of Ali?

{h SB2kg
(2) ©S0kg
{3) 47kg
(4 45kg

13  Inthe figure, AOB is a straight tine, ZADD = 100% and £2C08B = 123°.
Find £LCOD.

A—
(1) 23
@ 43
@ sr
4y 80°
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14  Ethan received $200 as a prize. He gave $70 to his mother. What percentage
of the prize money did Ethan give to his mother?

(1) 30%
(2) 35%
(3) 65%
4  70%

45 A rectangular glass box is filled with some 1-cm cubes as shown below.
How many more 1-cm cubes are needed to fillup the rectangular glass box

completaly?
(1)y 13
(2) 32
(3) 36
4 45
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Bookiet B

Questions 18 to 20 carry 1 mark sach. Show your working clearly in the space
provided for each question and write your answers in the spaces provided. For
questions which require units, give your answers in the units stated. {5 marks}

16 Whatis 6% of 31007

Ans;

17 Find the value of 10.% ~ 0.69.

Ans:

18 Arrange these fractions from the smailesl to the largest.

[ MR ]
| mle
Ty P
ik

Ans: , e .
smallest :

ATS 2023 P5 Math Ena-ul-Yo: Paper ¥
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18  The original price of a tablet was §550 During a sale, Melvin was given a 30%
discount for the tablal. How much did he pay for the tablet?

Ans: §

20 Fingd the vaiue of 0.27 » B0.

Ans:

ATS 2023 PS5 Math End-ol-Year Paper 1 B
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Questions 24 to 30 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided. For
questions which require units, give your answers in the units stated. (20 marks)

21 The figure is made up of four identical squares.
The area of each square is 36cm?, What is the perimater of the figure?

o]

PRy R ——

H

Ans: om

22 Three friends shared the cost of 60 mangoses inthe ratio 1:2:2.
What was the cost of tha smallest share?

Special Offer
$10 for one box of
15 mangoes

Ans: $
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23 Joash stacked 14 unit cubes o form the solid below.

Top view

|

¢ i
] ,{‘ - 14
1 g L-‘ 2%
4 [l
R B mp _ .
poth— iy %———Side view
Front view

Draw the front view and the top view of the solid on the grids below.

Front View Top View
- " - » L] - [ 3 L ] L ] [ ] - ] » -
» » L ] L] » LJ 4 - L] » - » L] -
. - - & - - . » » - - » & "
- - - [ 3 & L » » L] - [ L ] * »
» - - [ ] ] - » - * | 3 [ ] - L] -
» -» - » L ] - L J » L L ] » L] » -
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24 Ming drew three circles to form a figure, The areas of the circles were in the
ratio 1 : 4 : 16. She then shaded some paris of the figure as shown. Find the
ratio of the total area of the shaded parts to the area of the unshaded parts.

Ans:

2%  ABCD is a paralielogram. ZADE = 32°, /DCE = 48° and ZBCE = 540,
Find £z.

A B

Ans: o a

ATS 2023 F5 Malfs Encof- Year Paper §
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5 1
26  Priyaspent 3 of her money on some pens and Zof the remainder on 3
notebooks. A notebook cost 4 times as much as a pen. How many pens did

she buy?

Ans:

27 The table below shows the rate of charges for each overdue book

from a library.

OVERDUE CHARGES

For the first 7 days

20¢ per day

After 7 days

50¢ per day

horrowed

Pater borrowed a book
returned it. He paid a totat o

was il overdug?

Ans:

from the library. The book was overdue when he
f $3.00 for the overdue book, How many days

days

ATS 2023 P5Math End-of-Yeor Paper
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28 Dexter has $27 more than Asher. After Asher gave $6 to Dexter, Dexter had

4 timas as much monay as Ashar. What was the amount of money Asher had
in the end?

Ans: $

29 In the figure below, ACD and BCE are straight lines,
ZABE = 55°%, /DEB = 114° and #DAB = 99°. Find ZADE.

ATS 2023 PS Math End-of- Year Piper 1
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30  Triangle ABC is drawn by joining the dols on the square grid as shown

below.

(a)  On the grid below, draw Triangle ACD with the same area as
Triangle ABC. Triangle ACD does not overlap with Triangle ABC.

» - ] »
» - » -
a 1 » -
- . . -
- - - )

{b)  Onthe grid below,

* . L *
- - [ >
- - L] L
[ - - -
L L - -
. * » -
L * L »
[ . - »

ATS 2023 P5 Malh End-ol-Yaar Paper 1
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Paper 2

Quaestions 1 to § carry 2 marks each. Show your working clearly in the space provided
for each question and write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. (10 marks)

1 Cathleen has 1.2 m of ribbon at first. She used 45 cm of it,
What is the length of the ribbon Iefi?

Ans; m

2 The figure is made up of 3 identical squares. What percentage of the figure is
shaded?

Ans:

3 A machine takes 2 min {o print 3 posters. At this rate, how many posters will it
print in 2 hours?

 Ans:

AT5 2023 P5S Maih End-of-Yaur Popar z
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4 7 chocolate bars weigh 384.51 g each. How ruch do they weigh altogsther?
Round the answer to the nearest kilogram?

Ans: kg

5 A bag containing 12 oranges weighs 980g. The mass of the empty bag is20g.
What is the average mass of 1 orange ?

Ans; , g

AYS 2623 P5 Math End-of-Year Papar 2




For questions 6 to 17, show your working Clearly in the space provided for each
question and wrile the answers in the spaces provided. The number of marks available
is shown in the brackets [ ] at the end of each question or part-question.

(45 marks)
6 In the figure, ABCD is a parallefogram.
LABD = 29°, ZADB = 38° and #BCE = 86°.
A B
29°
38 g6g°
D ¢ E
{a) Find ZBCD.
Ans : {a) 2]

(b) Circle the words that describe ABED correctly in the following
statermnment,

ABED ( is /is not )2 trapezium and AB { is /is not )} parallel to DE.

1]

ATS 2023 PS Math Envoi-Year Faper 2
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7 Patrick bought 15 rulers and 20 highlighters at $50. He wanted to buy another
highlighter but was short of 0.90. He decided to buy another ruler instead and
had $0.40 left. How much did each ruler cost? '

Ans: [3]

8 Mrs Lee had a bottle of syrup. She used 600 ml of the syrup in the moming and

1 1
3 of the remaining syrup in the afternoon. After that, 3 of the syrup was left.
How much syrup was there in the bottle at first?

Ans: i3

ATS 2023 PS Math Enchof-Yeer Paper 2
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9 Figure ABCDE has an area of 2140 cm®. ABD and CBE are straight lines.
Find the area of the shaded friangle BDE.

]

1

L)

]

i

1

f

1

|

3

1]

i

L]

]

i

@ i

- h-‘-—-n«...-..Ej
o
—

42 cm

78 om

Ans: | 3]
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10 The table below shows the number of books read by 40 students, One of the

numbers in the table is covered by an ink blot.

Number of books read 0 5 8
by each studsnt
Number of studants 7 8 15 10
The average number of books vead by the students is 7.
What is the numbar coveared by the ink biof?
Ans: . - 31

ATS 2023 P5 Malh End-oE-Year Paper 2
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11 ABCDis a thombus. £ BAD =55° and < DEC = 90°
A B

) C

(a} Find ZADB.,

Ans : (a)

{b) Find £BDE.

Ans:{b)' |

— 2]

i2)

ATS 2023 PE Math Enk-ok Yoar Pgper 2
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12 A tank was completely full of waler at first. Water was drained out of the tank
from 2 p.m. The line graph shows the velume of water in the tank from 2 p.m. 0

8 p.m.
100
80
Volume
of water €0
in the
tank in
litres 40 -
—N
20 >
0 L
2pm. 3pm dpm.  S5pm.  Bpm 7pm. 8pm
Time

{a) Whatwas the decrease in volume of water from 5 p.m. to 8 p.m.?

Ans : (a) , 1]

(b) Al what time was the tank half-filled with water?

Ans : (b) . 21

{c) How long did it take for the tank to be emptied?

Ans : {¢) _ it]

ATS 2023 P5 Maith End-of-Year Popor 2
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13 An open rectangular box meastiring BO cm by 50 ecm by 72 cm is shown
below. The box is packed full of 1-cm cubes.

, 3

| ]

1

I

¥

H 72 cm
:

[ ]

[ .-

- A] om
80 cm

{a) How many cubes are packed into the box?

Ans : (a) [1]

(b}  How many cubes touch the inside of the box?

Ans:(b) - - .{3]-

ATS 2023 P5 Math End-of-Year Papar 2
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44  Thera are some books on a shelf -:,: of the books are fiction books and the rest

5 ,
are non-fiction books. z of the non-fiction books are Engtish books and the
remalning 16 non-fiction books are in other languages.

(a) What fraction of tha books on tha shelf are English non-fiction books?

Ans : (2) (2]

(b) How many fiction books are there on the shelf?

Ans : {b) _ B

ATS 2023 PS5 MaMEMVwPapw? - '
10




BP~355

5 The first four figures of a pattern are shown below.

ASNAA N
ANV

Figure 4

{(a)  The table shows the number of white and grey triangles used for each
figure. Complete the table for Figure 5.

Figure Number 1 2 3 4 5
Number of white '
kriangles 1 3 6 10
Number of grey
tiangles 3 5 10 15
Total nember of
trianglas i 4 o ° _ 1 25,

(b}  Afigure in the paltem has a total of 144 triangles. What is the Figure
Number?

Ans : {b) R il

(¢)  InFigure 50 how many while triangles are there?

;Arhsr:(c') — (3}

ATS 2023 P5 Malh End-of-Yoar Paper 2

-11_ ' LS




BP-~356

16 Al 43 students from a class were assigned to welcome visitors at a school
event, Thay were to line up in a row from one end to the other end of a corridor
at an equal spacing of 1.2 m apart.

(a)  How long was the corridor?

S
a!‘ 4

?

ond

T2m " 1.2m

Ans : (a) {2)

{b)  Onthe day of the event, 6 of the students did not tum up. As a result, the
remaining students had to line up from one end to the other and of the
corridor at a new equal spacing.

What was the new spacing between every 2 students?

Ans (b)) ____ [2]

ATS 2023 P5 Math End-ol-Year Paper 2
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17  The table below shows the charges for renting & bicycle.

Days Time Charge
v ' 9am toSpm.{ $5perhour
0 " Monday g pe
lo Friday

Spm.toBpm.| B7perhour

Saturd |
d SamtoB8pm.| $8perhour

and Sunday

(2}  John rented a bicycle from 10 am. 1o 1 p.m. on Sunday. How much did
ke have to pay?

Ans : (a) 1]

(b) On Tuesday, Ken rented a bicycle and returned it at 7 p.m. He paid a total
of $29. What was the earlies! time he rented the bicycle?

Ans:(b)_ 7 [3)

En_d of Paper

ATS 2023 P5 Maih Endtaf-Yoar Paper2
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SCHOOL
LEVEL :
SUBJECT :
TERM

Al TONG PRIMARY SCHOOL
PRIMARY 5

MATHEMATICS

2023 PRELIM

Q16 |186

Q17 19.51

M8 == 1=

Q19 | $385

Q20 {216

Q21 |B60cm

Q22 %8

-----------

a3 | '

Q24 1133

Q25 [274°

Q26 |60

Q27 |12days

Q28 |$13

Q29 131*

Pg1
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Q30a
QSOb ..........
PAPER 2
Q1 0.75m
i 0f — 0,
Q2 12 x 100% = 25%
120+ 2 =60
Q3 |gox3=180
384 .51 x 7 = 2691.57
Q4 =3000g
=3 kg
080 - 20 = 960
Q5 g6p+12=80g
Q6 ABCD = .BAD
a | BAD = 180° - 20° - 38° = 113°
Q6b |Is not, is not
$0.90 + $0.40 = $1.30
Assume all rulers
Q7 1$1.30x20=%26
$54 - $26 = $28
$28 + 35 = $0.80
4y =600 ml
Q8 [1u=150mi
10u = 1500 ml
Area of ADE = 0.5 x 78 x 42 = 1638 cm?
Q9 |Area of CDE = 0.5 x 40 x 42 = 840 cm?
Area of BDE = (1638 + 840) - 2140 = 338 cm?
Total books read =40 x.7 = 280
Q10 {280-(5x8)-(15x8)=120
Nacm@§p=120%10=12
Qt1la | -ADB = (180° - 55°) + 2 = 62.5°

Pg 2
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Q11b

<BDE = 62.5° - 35° = 27,5°

Q1iza

28¢

Q12b

5pm

Q12¢

5 hours

Q13a

80 x 60 x 72 = 288000

Q13b

No. of cubes that do not touch = (80 - 2) x (50 -2)x (72 - 1) = 265824
No. of cubes that touch = 288000 - 265824 = 22176

Q14a

Fiction : Non-fiction

7 14
Non-fiction English books = 10u
Non-fiction other languages = 4u

. _10
Fraction = 1

Q14b

4u =16
iu=4
7u=28

Q1i5a

White = 15, grey = 21, total = 36

Q15b

11

Q156b

1275

Q16a

No. of gaps = 42
1.2%x42=504m

Q16b

43-6=37
No. of gaps = 36
504 +36=14m

Q17a

Duration = 3 hours
Amount to pay = $8 x 3 = $24

Q17b

5pm to 7pm — 2 hours
2x$7=%14

$29-%14 =815
$15+85=3

3 hours before 5pm = 2pm

Pg3
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